RD SHARMA
Solutions
Class 8 Maths
Chapter 8
Ex 8.2



Divide: Question 1
6x%y?22 by 3x%yz
Soln:

6X3y222

3xtyz

ERXOXXYXYXZZ

3XXXXXy*zZ

= 2x3:Dy 21,2

=2xyz

Question 2
15m?n3 by 5m?n?
Soln:

3
15n°m?
5m?n?

15xnxn*n>mxm
Sxmxmxnxn

—3m@Dp(D)
=3m%!

=3n

Question 3
24a%b by -8ab
Soln:

24a’b’

—8ab

_ _24xaxaxaxbxbxb
—8xaxb

= 3aG-DpG-D)

=-3a%b?

Question 4
-21abc? by 7abc
Soln:

7ab

—21xaxbxcxc

= 7><a><5><c

_3a(-Dp(-DcCD)

= _3a0b0Cl

=3c



Question 5
72xyz? by -9xz
Soln:

72xyz2

—9xz

T2xXXy*zXZ
—9xxxz

= gx(1-yzD)

=-8yz

Question 6
-72a*b%c? by -9a%b%c3
Soln:

—72a'b°c®

—9a2b2c3

— —72xaxaxaxaxbxbxbxbxbxcxcxcxexcxexexe

—9xaxaxbxbxcxcxc

8a4-Dp(3-2)(8-3)

= 8a?b3c®

Simplify :
Question 7

16m3y?

4m’y
Soln:

16m3y?
4m2y

16>xm>xmxxyxy
4xmxmxy

= 4mBDyCD

=4my

Question 8

32m?n’p?
4mnp
Soln:

32m2n3p2

4mnp

32xmxmxnxnxnxpxp

4xmxnxp



= 8m@DpG-DpD)

=8mn’p



